Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER -V « EXAMINATION - WINTER 2012

Subject code: 355405

Subject Name: Cost Accounting

Time: 10.30 am - 01.00 pm

Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q1 (&

Q.2
(a)
(b)
(b)
Q.3

(@)

Prepare contract Account for the following information

Material [direct] 51300
Material [from stores] 10500
Wages 27300
Direct Expenses 8700
Establishment charges [apportioned] 3000
Plant 32200
Sub-Contract costs 3000
Sale of Scrap 2000

Further information is as follows :

1. Wages Rs.2700 and direct expenses Rs.2100.

2. The cost of work uncertified included materials Rs.3200, wages
Rs.1600 direct expenses Rs.1000.

3. The plant worth Rs. 5000 and materials costing Rs.2000 were
destroyed by fire.

4. The plant worth Rs.7000 was sold for Rs.6000 and materials
costing Rs.3000 were sold for Rs.4000.

5. Depreciation till the end of the year on plant was Rs.2200.

6. Material at site were Rs.5000.

7. Cash received from the contractee was Rs.96000 being 80% of
work certified.

8. Contract price was Rs.1,60,000.

9. Transfer % profit on cash basis to profit and Loss A/c

Write short note on:- (1) Halsey plan (2) Rowan plan
Explain classification of indirect overheads.

OR
Explain wage system.

The following expenses have been incurred in respect of a shop
having 4 identical machines.

- Rent and rates Rs. 6000 p.a.

- Power consumed by the shop @ 10 Paise per unit Rs. 4800 p.a.
- Repairs and maintenance of machines Rs. 960 p.a.

- Lighting for shop Rs. 800 p.a.

- Attendants two, each getting Rs. 60 p.m.

- Super Visor's Salary Rs. 600 p.a.

- Lubricants etc. Rs. 100 p.a.

Date: 29/12/2012

Total Marks: 70
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Q.3

Q.4

(b)

(a)
(b)

(@)

- Depreciation per machine Rs. 600 p.a.
- Hire-Purchase instalments for the machines Rs. 1200 p.a.
[Including Rs.300 for interest]
- Each machine consumes 10 units of power per hour
- Calculate the machine hour rate.
For the production of a product standard was pre-decided that
1500kg of raw material will be used at a standard rate of Rs.20/- per
kg. But during the actual production it was used 1515 kg at a rate of
Rs.21 per kg, calculate Material Price Variance, Material Usage
Variance and Material Cost Variance.

OR
The following details are extracted from the costing records of an oil
mill for the year ending 31st March, 2004.
Purchase : 1000 tonnes oil seeds at Rs.5000.

Particular Crushing Refining Finishing
Process Rs Process Rs Process Rs.
Cost of labour | 5000 3500 4500
Sunday Stores | 1000 3000 500
Electricity 2000 1750 1000
Steam 1500 1250 15000
Factory 2500 2000 1500
expense
Cost of casks | ---- 11750

60 tonness of crude oil was produced, 51 tonness of oil was
produced by the Refining Process 50 tonness of refined oil was
finished for delivery.Oil seeds sacks were sold for Rs.500. 35
tonness of oil seeds residue was sold for at Rs.60 per ton. Loss in
weight in crushing was 5 tonnes, 8.5 tonnes of by - Products was
obtained from Refining Process was valued at Rs.12750.

Prepare each Process Account. Calculate at the end of each
Process the cost of Production per ton and determine the total cost
per ton of finished oil.

Explain certified work and uncertified work
Explain normal Loss and abnormal Loss.

OR
Ram Automobiles Ltd. manufactures one article for the use of a
motor car, which passes through three process. The normal wastage
for process 1 is 20% of the units introduced. The wastage [normal
and abnormal] is sold at Rs.50 per unit. 2000 units were introduced
in this process at Rs.100 per unit. The additional expenditure
incurred was Rs.60000.
Prepare Accounts showing the cost of production Per unit under
the following conditions :
(i) If the production is 1500 units.
(ii) If the production is 1600 units.
(iii) If the production is 1800 units.
Show your calculations relating to the cost of production separately
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Q.5

Q.5

Ya—9q

Y-

Ya—3

(a)
(b)

(a)
(b)

Explain the meaning of operating cost and discuss its characteristics.

What are the limitations of Marginal Costing?
OR
Explain in brief standard costing.
What do you understand by Joint Product and By Product?
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